

1. let
$$A = \begin{pmatrix} 2 & 3 & -2 \\ -3 & 0 & 0 \\ -4 & -6 & 4 \end{pmatrix}$$
.
c) $dut(A - \lambda T) = 0$
 $dut \begin{pmatrix} 2 -\lambda & 3 & -2 \\ -3 & -\lambda & 0 \\ -4 & -6 & 4 - \lambda \end{pmatrix} = 0$
 $dut \begin{pmatrix} 2 -\lambda & -2 \\ -3 & -\lambda & 0 \\ -4 & -6 & 4 - \lambda \end{pmatrix}$
 $3 dut \begin{pmatrix} 2 -2 \\ -6 & 4 - \lambda \end{pmatrix} + (-\lambda) dut \begin{pmatrix} 2 -\lambda & -2 \\ -4 & 4 - \lambda \end{pmatrix}$
 $= 0$
 $3 (3(4 - \lambda) - 12) + (-\lambda)((12 - \lambda)(4 - \lambda) - 8) = 0$
 $3 (3(4 - \lambda) - 12) + (-\lambda)((12 - \lambda)(4 - \lambda) - 8) = 0$
 $- (3 + (-\lambda)(\lambda^2 - 4\lambda + -\lambda)(-3) = 0$
 $- (\lambda)(\lambda^2 - 4\lambda + 4) = 0$
 $- \lambda(\lambda - 3)^2 = 0$
 $\lambda = 0$, $\lambda = 3, 3$

(b)
$$\bigvee_{0} = kr(A - 0I) = kr(A)$$

 $= kr(\begin{pmatrix} 2 & 3 & -2 \\ -3 & 0 & 0 \\ -4 & -6 & 4 \end{pmatrix}$
 $\begin{pmatrix} 2 & 3 & -2 \\ -3 & 0 & 0 \\ -4 & -6 & 4 \end{pmatrix} \xrightarrow{2r_{1}+r_{3}} \begin{pmatrix} 2 & 3 & 2 \\ -3 & 0 & 0 \\ -4 & -6 & 4 \end{pmatrix}$
 $\xrightarrow{\frac{2}{5}r_{1}+r_{1}} \begin{pmatrix} 2 & 3 & 2 \\ 0 & 4/2 & 3 \\ 0 & 6 & 0 \end{pmatrix}$
 $\xrightarrow{\frac{2}{5}r_{2}+r_{1}} \begin{pmatrix} 2 & 0 & 0 \\ 0 & 4/2 & 3 \\ 0 & 6 & 0 \end{pmatrix}$
 $\xrightarrow{\frac{2}{5}r_{2}+r_{1}} \begin{pmatrix} 2 & 0 & 0 \\ 0 & 4/2 & 3 \\ 0 & 0 & 0 \end{pmatrix}$
 $\xrightarrow{\frac{2}{5}r_{2}+r_{1}} \begin{pmatrix} 2 & 0 & 0 \\ 0 & 4/2 & 3 \\ 0 & 0 & 0 \end{pmatrix}$
 $\xrightarrow{\frac{2}{5}r_{2}+r_{1}} \begin{pmatrix} 2 & 0 & 0 \\ 0 & 4/2 & 3 \\ 0 & 0 & 0 \end{pmatrix}$
 $\xrightarrow{\frac{2}{5}r_{2}+r_{1}} \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & -2/3 \\ 0 & 0 & 0 \end{pmatrix}$
 $\xrightarrow{\frac{2}{5}r_{2}+r_{1}} \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & -2/3 \\ 0 & 0 & 0 \end{pmatrix}$
 $\xrightarrow{\frac{2}{5}r_{2}+r_{1}} \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & -2/3 \\ 0 & 0 & 0 \end{pmatrix}$
 $\xrightarrow{\frac{2}{5}r_{2}+r_{1}} \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & -2/3 \\ 0 & 0 & 0 \end{pmatrix}$
 $\xrightarrow{\frac{2}{5}r_{2}+r_{1}} \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & -2/3 \\ 0 & 0 & 0 \end{pmatrix}$
 $\xrightarrow{\frac{2}{5}r_{2}+r_{1}} \begin{pmatrix} 1 & 0 & 0 \\ 0 & 1 & -2/3 \\ 0 & 0 & 0 \end{pmatrix}$
 $\xrightarrow{\frac{2}{5}r_{2}+r_{1}} \begin{pmatrix} -1 & 3 & -2 \\ -3 & -3 & 0 \\ -4 & -6 & 1 \end{pmatrix}$
 $\xrightarrow{\frac{2}{5}r_{1}+r_{2}} \begin{pmatrix} -1 & 3 & -2 \\ -3 & -3 & 0 \\ -4 & -6 & 1 \end{pmatrix}$
 $\xrightarrow{\frac{2}{5}r_{1}+r_{2}} \begin{pmatrix} 1 & -3 & 2 \\ 0 & 12 & -6 \end{pmatrix}$

$$\begin{array}{c} -\frac{3}{2}\sum_{i=1}^{n}\sum_{i=1$$

There for the Jorden durant osition is

$$A = \begin{pmatrix} 0 & -1 & 0 \\ 2 & 1 & -1/3 \\ 3 & 2 & 0 \end{pmatrix} \begin{pmatrix} 0 & 0 & 0 \\ 0 & 3 & 1 \\ 0 & 0 & 3 \end{pmatrix} \begin{pmatrix} 0 & -1 & 0 \\ 2 & 1 & -1/3 \\ 3 & 2 & 0 \end{pmatrix}$$

3.
(a) The vertex - edge formula surge wheat

$$\# v - \# e = 1 - \# ind circ$$

So $b - 7 = 1 - \# ind circ$
 $\implies \# ind circ = 2$
This is expected since the graph fiel 2
"holds" in it. One given by $e_2 + e_4 + e_4$
 $cod + u ofter e_2 + e_5 + e_6$.
(b) $\exists (e) = end - stat, is use med to
label the vertice first.
 v_1
 $e_4 \int_{v_1}^{v_2} e_1 \cdots e_{v_1}^{v_2} fe_1$
 $e_7 = v_2 e_1 \cdots e_{r_1}^{v_2} e_1$
Area a arawit is an element b the kended b
 $= \Im(e_1 + e_2 - 2e_3 - 2e_1 + e_5 + e_6 - 2e_7)$
 $= v_{u_1} - v_3 + v_2 - v_6 - 2v_5 + 2v_3 - 2v_1 + 2v_5$
 $\pm v_6 - v_4 + v_4 - v_6 - 2v_5 + 2v_1$
 $= v_{u_1} - v_3 \neq 0$. So this is not$

4. (a) Writing 4-,-7 in matrix form we have

$$\begin{pmatrix} \chi, \chi, \eta, \eta \end{pmatrix}, \begin{pmatrix} \chi, \chi, \eta, \eta \end{pmatrix} \\ = \begin{pmatrix} \chi, \eta, \eta \end{pmatrix} \begin{pmatrix} \chi, \eta, \eta \end{pmatrix} \begin{pmatrix} \chi, \eta, \eta \end{pmatrix} \begin{pmatrix} \chi, \eta \end{pmatrix} \end{pmatrix}$$

Silvearity

$$\langle \overline{u} + v, w \rangle = (u + v)^T (2 - 1) w$$

$$= (u^{T} + v^{T}) \begin{pmatrix} 2 & -1 \\ -1 & 1 \end{pmatrix} w$$
$$= u^{T} \begin{pmatrix} 2 & -1 \\ -1 & 1 \end{pmatrix} w + v^{T} \begin{pmatrix} 2 & -1 \\ -1 & 1 \end{pmatrix} w$$

$$= \langle u, u \rangle + \langle v, w \rangle$$

$$\cdot \langle (\vec{v}, \vec{u}) = ((\vec{v})^T (\frac{2}{-1})^U)$$

$$= (\vec{v}^T (\frac{2}{-1})^U) = (\langle v, w \rangle)$$

$$= (\vec{v}^T (\frac{2}{-1})^U) = (\langle v, w \rangle)$$
The other side is similar.

$$\begin{aligned} & \int y_{1} x_{1} y_{2} z_{1} \\ & \langle \vec{x}_{1}, \vec{x}_{2} \rangle = 2 x_{1} x_{1} - x_{1} y_{2} - x_{2} y_{1} + y_{1} y_{2} \\ & = 2 x_{2} x_{1} - x_{2} y_{1} - x_{1} y_{2} + y_{2} y_{1} \\ & = \zeta \vec{x}_{2} y_{1} - x_{1} y_{2} + y_{2} y_{1} \end{aligned}$$

But K is positive definite time

$$dut \begin{pmatrix} 2-\lambda & -1 \\ -1 & 1-\lambda \end{pmatrix} = 0$$

$$(2-\lambda)(1-\lambda) -1 = 0$$

$$\lambda^{2} - 3\lambda + 2 - 1 = 0$$

$$\lambda^{2} - 3\lambda + 1 = 0$$

$$\lambda = 3 \pm \sqrt{q - 4} = \frac{3 \pm \sqrt{r}}{2} > 0$$

$$dt' s eigenvalues are both fositive?$$

$$for \langle -1 & 1 \rangle \vee > 0$$

$$and \langle -1 - 7 \rangle is positive.$$

(b)
$$|2\nu_1\nu_2 - \nu_1\nu_2 - \nu_2\nu_1 + \nu_1\nu_2|$$

 $\leq \int 2\nu_1^2 - 2\nu_1\nu_2 + \nu_2^2 \int 2\omega_1^2 - 2\omega_1\nu_2 + \omega_1^2$

(a) The vectors
$$\{v_1, v_1, v_3, v_4\}$$
 do not form
a basis b any IR⁻. These vectors live in
IR⁴ to the only possibility is $n=4$. But
they don't form a basis b IR⁴ either.
They are not independent since $v_3 \in \text{span}(v_1, v_2)$
according to the PARF. In particular
 $v_3 = -2v_1 + 4v_2$ is a dependent.
They also don't span since $\binom{9}{2} \notin \text{span by coherns}$
 $g \in PAFF.$

Since they neither spanner are independent, my
can't be a basis.
(b) ker (m) = ker
$$\begin{pmatrix} 1 & 0 - 2 & 0 \\ 0 & 1 & 4 & 0 \\ 0 & 0 & 0 & 1 \end{pmatrix}$$
 $y = -42$
 $y = 0$

$$\operatorname{trr}(\mathcal{M}) = \begin{pmatrix} 2z \\ -4z \\ \frac{z}{0} \end{pmatrix} = \operatorname{Spm}\begin{pmatrix} 2 \\ -4 \\ \frac{z}{0} \end{pmatrix}$$

Thus dim
$$(ler(m)) = 1$$

(c). By rank-nullity

$$dim(ler(M)) + rank(M) = 4$$

 $1 + rank(M) = 9$
 $\implies rk(M) = 3.$

Alternatively
$$f(x_1(M)) = H \circ b \ leading 1!_1$$

= 3.
(d) $M \circ b$ not invertible since
 $f(M) \neq 4$
 $b \circ b (M) \neq 4$
 $b \circ$

$$e_{X}\varphi\left(\left(\left(X,Y\right)\right)\right) = e_{X}\varphi\left(\left(X,Y\right)\right)$$

$$= \left(e^{\left(X}, e^{\left(Y\right)\right)}\right)$$

$$= \left(\left(e^{Y}\right)^{C}, \left(e^{Y}\right)^{C}\right) = c\left(e^{Y}, e^{Y}\right)$$

$$= c\left(e_{Y}\varphi\left(X,Y\right)\right).$$

$$\left(z\right) \omega_{1} = \left(\frac{-1}{2}\right) \quad \omega_{2} = \left(\frac{-1}{2}\right) \quad \omega_{3} = \left(\frac{1}{2}\right)$$

$$U_{1} = \omega_{1} = \left(\frac{-1}{2}\right)$$

$$U_{2} = \omega_{2} - \frac{\omega_{2} \cdot v_{1}}{||v_{1}|^{1}} \quad v_{1}$$

$$= \left(\frac{-1}{2}\right) - \left(\frac{-1}{2}\right) = \left(\frac{0}{2}\right)$$

$$V_{3} = \omega_{3} - \frac{\omega_{3} \cdot v_{1}}{||v_{1}|^{1}} \quad v_{1} - \frac{\omega_{3} \cdot v_{2}}{||v_{2}|^{1}} \quad v_{3}$$

$$= \left(\frac{1}{2}\right) - \frac{-1}{2}\left(\frac{-1}{2}\right) - \frac{2}{4}\left(\frac{0}{2}\right)$$

$$= \left(\frac{1}{2}\right) + \left(\frac{-1}{2}\right) - \left(\frac{0}{2}\right) = \left(\frac{1}{2}\right) + \left(\frac{-1}{2}\right)$$

$$V_{3} = \left(\frac{V_{2}}{2}\right)$$

7.

Normalities we get

$$u_{n} = \frac{1}{\sqrt{2}} \begin{pmatrix} -\frac{1}{2} \\ 0 \end{pmatrix} \quad u_{2} = \begin{pmatrix} 0 \\ 0 \\ 1 \end{pmatrix} \quad u_{3} = \frac{1}{\sqrt{2}} \begin{pmatrix} 1 \\ 0 \\ 0 \end{pmatrix},$$
b)
Product $= (\nabla \cdot u_{1})u_{1} + (\nabla \cdot u_{2})u_{2}$ where
 u_{1}, u_{2} are an origonormal basis $d_{1} d_{2}$.
From part (e) W has origonormal basis
 $u_{1} = \frac{1}{\sqrt{2}} \begin{pmatrix} -1 \\ 0 \end{pmatrix}$ and $u_{2} = \begin{pmatrix} 0 \\ 1 \end{pmatrix},$
 $\int grod_{W} \left(2,1,2\right) = \left(\begin{pmatrix} 2 \\ 2 \end{pmatrix} \cdot \frac{1}{\sqrt{2}}\begin{pmatrix} -1 \\ 0 \end{pmatrix}\right) \frac{1}{\sqrt{2}} \begin{pmatrix} -1 \\ 0 \end{pmatrix}$
 $+ \left(\begin{pmatrix} 2 \\ 2 \end{pmatrix} \cdot \begin{pmatrix} 0 \\ 1 \end{pmatrix}\right) \begin{pmatrix} 0 \\ 1 \end{pmatrix},$
 $\int \frac{1}{\sqrt{2}} \left(-\frac{1}{\sqrt{2}}\right) + 2\begin{pmatrix} 0 \\ 1 \end{pmatrix} = \begin{pmatrix} -\frac{1}{\sqrt{2}} \\ -\frac{1}{\sqrt{2}} \end{pmatrix},$

$$\begin{aligned}
\delta. \\
(a) \quad A = \begin{pmatrix} 0 & 0 & -3 \\ 2 & z & -1 \\ 1 & 1 & -z \end{pmatrix} \\
A^{2} = \begin{pmatrix} 0 & 0 & -3 \\ 2 & z & -1 \\ 1 & 1 & -z \end{pmatrix} \begin{pmatrix} 0 & 0 & -3 \\ 2 & z & -1 \\ 1 & 1 & -z \end{pmatrix} = \begin{pmatrix} -3 & -3 & b \\ 3 & 3 & -b \\ 0 & 0 & 0 \end{pmatrix} \\
A^{3} = \begin{pmatrix} 0 & 0 & -3 \\ 2 & z & -1 \\ 1 & 1 & -z \end{pmatrix} \begin{pmatrix} -3 & -3 & b \\ 3 & 3 & -b \\ 0 & 0 & 0 \end{pmatrix} = \begin{pmatrix} 0 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 0 & 0 \end{pmatrix}
\end{aligned}$$

$$dut (A - \lambda I) = \lambda I + \begin{pmatrix} -\lambda & 0 & -3 \\ 2 & 2 & -\lambda & -1 \\ 1 & 1 & -2 & -\lambda \end{pmatrix} = 0$$

$$-\lambda ((2 - \lambda)(2 - \lambda) + 1) + (-3) (2 - (2 - \lambda)) = 0$$

$$-\lambda (-4 + \lambda^{2} + 1) + (-3\lambda) = 0$$

$$-\lambda^{3} + 3\lambda - 3\lambda = 0$$

$$-\lambda^{3} = 0 \implies \lambda = 0, 0, 10$$

$$\bigvee_{0} = kur(A) = kur \begin{pmatrix} 0 & 0 & -3 \\ 2 & 2 & -1 \\ 1 & 1 & -2 \end{pmatrix}$$

$$\begin{pmatrix} 0 & 0 & -3 \\ 2 & 2 & -1 \\ 1 & 1 & -2 \end{pmatrix}$$

$$\begin{pmatrix} 0 & 0 & -3 \\ 2 & 2 & -1 \\ 1 & 1 & -2 \end{pmatrix}$$

$$\frac{-2r_{1} + r_{2}}{-2r_{1} + r_{2}} \begin{pmatrix} 1 & 1 & -2 \\ 0 & 0 & -3 \end{pmatrix}$$

$$\frac{-2r_{1} + r_{2}}{-2r_{2} + r_{1}} \begin{pmatrix} 1 & 1 & -2 \\ 0 & 0 & -3 \end{pmatrix}$$

$$\frac{+r_{2} + r_{3}}{-2r_{2} + r_{1}} \begin{pmatrix} 1 & 1 & -2 \\ 0 & 0 & -3 \end{pmatrix}$$

$$\frac{+r_{2} + r_{3}}{-2r_{2} + r_{1}} \begin{pmatrix} 1 & 1 & -2 \\ 0 & 0 & -3 \end{pmatrix}$$

$$\frac{+r_{2} + r_{3}}{-2r_{2} + r_{1}} \begin{pmatrix} 1 & 1 & -2 \\ 0 & 0 & -3 \end{pmatrix}$$

$$\frac{+r_{2} + r_{3}}{-2r_{2} + r_{1}} \begin{pmatrix} 1 & 1 & -2 \\ 0 & 0 & -3 \end{pmatrix}$$

$$\frac{1}{2} = \sum_{n=0}^{2} \left(\begin{array}{c} 1 & 1 & -2 \\ 0 & 0 & -3 \\ 0 & 0 & -3 \end{array} \right)$$

$$\frac{1}{2} = \sum_{n=0}^{2} \left(\begin{array}{c} 1 & 1 & -2 \\ 0 & 0 & -3 \\ 0 & 0 & -3 \end{array} \right)$$

$$\frac{1}{2} = \sum_{n=0}^{2} \left(\begin{array}{c} 1 & 1 & -2 \\ 0 & 0 & -3 \\ 0 & 0 & -3 \end{array} \right)$$

$$\frac{1}{2} = \sum_{n=0}^{2} \left(\begin{array}{c} 1 & 1 & 0 \\ 0 & 0 & 3 \\ 0 & 0 & 0 \end{array} \right)$$

$$\frac{1}{2} = \sum_{n=0}^{2} \left(\begin{array}{c} 1 & 1 & 0 \\ 0 & 0 & 3 \\ 0 & 0 & 0 \end{array} \right)$$

$$\int_{n=0}^{2} \left(\sum_{n=0}^{2} \left(\begin{array}{c} 1 & 1 & 0 \\ 0 & 0 & 3 \\ 0 & 0 & 0 \end{array} \right)$$

$$\int_{n=0}^{2} \left(\sum_{n=0}^{2} \left(\begin{array}{c} 1 & 1 & 0 \\ 0 & 0 & 3 \\ 0 & 0 & 0 \end{array} \right)$$

So Jordan chain is
$$W_1 = \begin{pmatrix} -1 \\ 1 \\ 0 \end{pmatrix}, W_2, W_3,$$

$$A W_{2} = W_{1} \qquad \text{for } A W_{3} = W_{2} \cdot \left(\begin{array}{c} 0 & 0 & -3 \\ 2 & 2 & -1 \\ 1 & 1 & -2 \end{array}\right) \left(\begin{array}{c} x \\ y \\ z \end{array}\right) = \left(\begin{array}{c} -1 \\ 0 \end{array}\right) \xrightarrow{2J_{2}r_{1}+r_{1}} \left(\begin{array}{c} 2J_{3} \\ -1 \\ z \end{array}\right) \xrightarrow{J_{3}r_{1}+r_{1}} \left(\begin{array}{c} 2J_{3} \\ -1 \\ z \end{array}\right) \xrightarrow{J_{3}r_{1}} \left(\begin{array}{c} 2J_{3} \\ z \end{array}\right) \xrightarrow{J_{3}r_{1}} \left(\begin{array}{c} 2J_{1} \\ z \end{array}\right) \xrightarrow{J_{3}r_{1}} \left($$

$$\int_{0}^{5} \omega_{3} = \begin{pmatrix} -\frac{1}{4} \\ 0 \\ -\frac{1}{2} \\ -\frac{1}{4} \\ 0 \end{pmatrix}.$$
Thus
$$\begin{pmatrix} 0 & 0 & -\frac{3}{4} \\ 2 & 2 & -1 \\ 1 & -2 \end{pmatrix} = \begin{pmatrix} -\frac{1}{2} \\ 1 & 0 & 0 \\ 0 & \frac{1}{3} \\ -\frac{1}{4} \\ -\frac{1}{4} \\ 0 \end{pmatrix} \begin{pmatrix} 0 & 1 \\ 0 & \frac{1}{4} \\ 0 \\ 0 \end{pmatrix} \begin{pmatrix} -\frac{1}{4} \\ \frac{2}{3} \\ -\frac{1}{3} \\ 0 \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} 0 & 1 \\ 1 & 0 & 0 \\ 0 & \frac{1}{3} \\ -\frac{2}{4} \\ 0 \end{pmatrix}$$

$$\begin{pmatrix} 0 & 1 \\ 1 & 0 & 0 \\ 0 & \frac{1}{3} \\ -\frac{2}{4} \\ 0 \end{pmatrix} \begin{pmatrix} 0 & 1 \\ 0 & \frac{1}{3} \\ 0 & \frac{1}{3} \\ -\frac{2}{4} \\ 0 \end{pmatrix}$$

$$\delta_{0} = \begin{pmatrix} 0 & 0 & -3 \\ 2 & 2 & -1 \\ 1 & 1 & -2 \end{pmatrix} = \begin{pmatrix} -1 & 2/3 & -1/4 \\ 1 & 0 & 6 \\ 6 & 1/3 & -2/4 \end{pmatrix} = \begin{pmatrix} 0 & 1 & 0 & 0 \\ 0 & 0 & 0 \\ 0 & 1/3 & -2/4 \end{pmatrix}$$

$$\begin{pmatrix} 0 & 0 \\ 0 & 0 \end{pmatrix}$$
 = $T + N + \frac{1}{2} N^{2}$

$$= \begin{pmatrix} 1 \\ 1 \end{pmatrix} + \begin{pmatrix} 0 \\ 0 \end{pmatrix} + \frac{1}{2} \begin{pmatrix} 0 \\ 0 \end{pmatrix}$$

$$= \begin{pmatrix} | | | \frac{1}{2} \\ 0 | | \\ 0 | \rangle \end{pmatrix}$$

$$\implies e^{A} = \begin{pmatrix} -1 & 2/3 & -1/4 \\ 1 & 0 & 6 \\ 0 & 1/3 & -2/4 \end{pmatrix} \begin{pmatrix} 1 & 1 & 1/2 \\ 0 & 1 & 1 \\ 0 & 0 & 1 \end{pmatrix} \begin{pmatrix} 0 & 1 & 0 \\ 2 & 2 & -1 \\ 3 & 3 & 6 \end{pmatrix}$$

$$= \begin{pmatrix} -1/2 & -3/2 & 0 \\ 3/2 & 4/2 & -4 \\ 1 & 1 & -1 \end{pmatrix}$$
 any way don't
do it this
way if you
can avoid it !

$$(\alpha) \quad (e + \Delta = \begin{pmatrix} \lambda, & \lambda_{1} \\ & \lambda_{2} \end{pmatrix}.$$

Then

$$P_{A}(\Lambda) = C_{3}\begin{pmatrix}\lambda_{1} & \lambda_{2} \\ \lambda_{1} & \lambda_{3} \end{pmatrix}^{3} + C_{2}\begin{pmatrix}\lambda_{1} & \lambda_{2} \\ \lambda_{2} \\ \lambda_{3} \end{pmatrix}^{2}$$

$$+ C_{1}\begin{pmatrix}\lambda_{1} & \lambda_{2} \\ \lambda_{3} \end{pmatrix} + C_{2}\begin{pmatrix}\lambda_{1} & \lambda_{2} \\ \lambda_{2} \\ \lambda_{3} \end{pmatrix}^{3}$$

$$+ C_{1}\begin{pmatrix}\lambda_{1} & \lambda_{2} \\ \lambda_{3} \end{pmatrix} + C_{2}\begin{pmatrix}\lambda_{1} & \lambda_{2} \\ \lambda_{2} \\ \lambda_{3} \end{pmatrix}$$

$$+ C_{1}\begin{pmatrix}\lambda_{1} & \lambda_{2} \\ \lambda_{3} \end{pmatrix} + C_{2}\begin{pmatrix}1 \\ \lambda_{2} \\ \lambda_{3} \end{pmatrix}$$

$$+ C_{1}\begin{pmatrix}\lambda_{1} & \lambda_{2} \\ \lambda_{3} \end{pmatrix} + C_{2}\begin{pmatrix}1 \\ \lambda_{2} \\ \lambda_{3} \end{pmatrix}$$

$$+ C_{1}\begin{pmatrix}\lambda_{1} & \lambda_{2} \\ \lambda_{3} \end{pmatrix} + C_{2}\begin{pmatrix}1 \\ \lambda_{2} \\ \lambda_{3} \end{pmatrix}$$

$$+ C_{1}\begin{pmatrix}\lambda_{1} & \lambda_{2} \\ \lambda_{3} \end{pmatrix} + C_{2}\begin{pmatrix}1 \\ \lambda_{2} \\ \lambda_{3} \end{pmatrix}$$

$$+ C_{1}\begin{pmatrix}\lambda_{1} & \lambda_{2} \\ \lambda_{3} \end{pmatrix} + C_{2}\begin{pmatrix}\lambda_{1} \\ \lambda_{2} \\ \lambda_{3} \end{pmatrix}$$

Since
$$\lambda_i$$
 are pools of the charpedy then
 $C_3 \lambda_i^3 + C_2 \lambda_i^2 + C_1 \lambda_i + C_0 = 0$
Each of the above diagonal entries is 0, so

$$=) \quad P_{A}(\Lambda) = 0 \quad . \quad \Box$$

(b). By the decomposition

$$A = SAS^{-1} \quad f_{0}$$

$$P_{A}(A) = c_{3}(SAS^{-1})^{3} + c_{2}(SAS^{-1})^{2} + c_{1}(SAS^{-1})^{2} + c_{3}T$$

$$+ c_{0}T$$

$$= c_{3}SA^{3}S^{-1} + c_{2}SA^{2}S^{-1} + c_{1}SAS^{-1} + c_{2}SAS^{-1} + c_{3}SAS^{-1} + c_{5}STS^{-1}$$

$$= S\left(c_3\Lambda^3 + c_2\Lambda^2 + c_3\Lambda + c_0I\right)S^{-1}$$
$$= S_{PA}(\Lambda)S^{-1} = SOS^{-1} = O$$

Ц

All in all $P_A(A) = 0$.